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1. qUnnFg.rUOeC

n/n

1
gpmubp bnUnnnn /3-4 mupbQtutt/ 4

T

z Uhghft funrdp /4-5 mupbLltult/ 1 30

Cl.r4rurlbtrp 2 60

UruUUr-ug.{unmbqh ur2luruunr-ul,rpu1hu nEdlrrlp' 2urptuptuQur0 40 drur-I, Ztupulpn 5 u2fuuuut0ptu;ft0 op:

Urutr Ll ru q ur n Ln bqn LrJ b n b lu ultr b i fr dtr ur 1n r- Ln [r-n qn LpJ n r-tr p' 9 dtu tI:

2, t uu sheuS nF8 uq c,'n ucsnLu3 hL'InnF3PuQuoEnc
h/h
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1 Stropbtr 1 140000

z afuu{np hu2t{uquh 0,5 1 10000

Ubpn4flur.n unUopbttft nlu.qbn{ mbrlurQ tu1 0.5 1 20000

4 lnqbputr 1 120000
r}uuunIurputQ 2,5 120000

ShqUnrtun hpuuhuLq[1 0,25 120000

7 b p rud2m u! uL r1bL1 tu t{ut p 0,5 120000

8 ')u u unft ru p ut U h oqL ut,t uttt 2,2 100000

I Fnldpnulp 1 100000

10 SLunbu{utp 0,5 1 10000

11 funhuupLup 1 1 10000

12 fu n h up rupfr oql uL1 utl.t 0,5 96000

13 OduLnuU ptuU{np 96000

14 3rur{rupruprup 0,5 96000

lUnguquU gbnnlgtiutlt ubqnU[ h tudutp 1 96000

16
aluhruLl 2 96000

cL'IUUbLC' 15,45

3, UOtuUsn'Iutsl'h gULUt{C' 19

uctuusuqu2uh punsnF lun'

quubu cudLh'nbs'

q. gucnhblSuL

s. cuPutuul,3uL


